
=LPDB����

*UXSD�5R]NãDG������)$�5����&��1-$��7\J������

3
Q

:
W

ģ
U

&
]

�������������7\J��������
��

7HFKQRORJLH
LQIRUPDF\MQH��üZ�� GU
.LHáE�6WDUF]HZVND�(ZD�
=%�����
.20387(52:$� ���
)$�5����:

�������������7\G]��

'\GDNW\ND�SU]HGPLRWRZD�
QDXF]DQLH�M�DQJLHOVNLHJR
Z�V]NROH�SRGVWDZ� PJU
6WDFKXUVND�ûZLHN
6\OZLD� %LJ�%OXH�%XWWRQ�
=DMĊFLD�RQ�OLQH� ���)$�5�
���&��1-$

�������������7\J���������
������������

'\GDNW\ND�SU]HGPLRWRZD�
QDXF]DQLH�M�DQJLHOVNLHJR
Z�V]NROH�SRGVWDZ� PJU
6WDFKXUVND�ûZLHN
6\OZLD� %LJ�%OXH�%XWWRQ�
=DMĊFLD�RQ�OLQH� ���)$�5�
���&��1-$

RG���W\J��]DMĊFLD�RQ�OLQH

�������������7\G]���

'\GDNW\ND�QDXF]DQLD�Z�V]NROH�SRGVWDZRZHM��üZ��� PJU
6WDFKXUVND�ûZLHN�6\OZLD� =%������ ���)$�5����&��1-$

�������������7\J���������
������������

'\GDNW\ND�SU]HGPLRWRZD�
QDXF]DQLH�M�DQJLHOVNLHJR
Z�V]NROH�SRGVWDZ� PJU
6WDFKXUVND�ûZLHN
6\OZLD� %LJ�%OXH�%XWWRQ�
=DMĊFLD�RQ�OLQH� ���)$�5�
���&��1-$

RG���W\J��RQ�OLQHSL
ĈW

HN

�������������7\J���������
�����

31-$���JUDPDW\ND
SUDNW\F]QD� PJU�.DURĔ
-XVW\QD� =%������ ���)$�
5����:

�������������7\G]��

31-$�NRQZHUVDFMH� GU
5DJDQLHZLF]
0DJGDOHQD� =%������ ���
)$�5����:

�������������7\J���������
�����

31-$���JUDPDW\ND
SUDNW\F]QD� PJU�.DURĔ
-XVW\QD� =%������ ���)$�
5����:

�������������7\J�������
��

31-$�NRQZHUVDFMH� GU
5DJDQLHZLF]
0DJGDOHQD� =%������ ���
)$�5����:

�������������7\J������

31-$�NRQZHUVDFMH� GU
5DJDQLHZLF]
0DJGDOHQD� =%������ ���
)$�5����:

�������������7\J��������
������

6HPLQDULXP�G\SORPRZH�
GU�6áDERĔVND�2OJD� =%�
����� ���)$�5����:

�������������7\J�������

6HPLQDULXP�G\SORPRZH�
GU�-RKQVRQ�6XVDQQD
6WDF\� '(���� ���)$�5�
���:

�������������7\J��������
���������

7HRULH�SU]\VZDMDQLD
MĊ]\ND� GU�5RNRV]HZVND
.DWDU]\QD� =%������ ���
)$�5����&��1-$

�������������7\J�����

31-$�NRQZHUVDFMH� GU
5DJDQLHZLF]
0DJGDOHQD� =%������ ���
)$�5����:

�������������7\G]��

6HPLQDULXP�G\SORPRZH�
GU�6áDERĔVND�2OJD� =%�
����� ���)$�5����:

�������������7\J�����

31-$�NRQZHUVDFMH� GU
5DJDQLHZLF]
0DJGDOHQD� =%������ ���
)$�5����:

������
������
7\G]���

7HRULH
SU]\VZDMDQ
LD�MĊ]\ND� G
U
5RNRV]HZ
VND
.DWDU]\QD�
=%������ �
��)$�5����
&��1-$

VR
ER

WD

�������������7\J��������
��

31-$��VSUDZQRĞFL
]LQWHJURZDQH� GU
5DJDQLHZLF]
0DJGDOHQD� %LJ�%OXH
%XWWRQ��=DMĊFLD�RQ�OLQH�
=%������ ���)$�5����:

RG���W\J��]DMĊFLD�RQOLQH
SODWIRUPD�H�QDXND

�������������7\J���������
������

31-$��VSUDZQRĞFL
]LQWHJURZDQH� GU
5DJDQLHZLF]
0DJGDOHQD� %LJ�%OXH
%XWWRQ��=DMĊFLD�RQ�OLQH�
=%������ ���)$�5����:

RG���W\J��]DMĊFLD�RQOLQH
SODWIRUPD�H�QDXND

�������������7\J��������
�������

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� =%������ ���)$�
5����:�����:)�5����:�
8&.8�1$�5����(*

�������������7\J��������
�������

6SHF��QDXF]��.XOWXUD
MĊ]\ND�GOD�QDXF]\FLHOL� GU
/DQJLHU�&HF\OLD� =%�
����� ���)$�5����:�����
:)�5����:��8&.8�1$�
5����.-1QL

HG
]L

HO
D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������)$�5����&��1-$��7\J������

������
������
7\G]��

+LVWRULD
OLWHUDWXU\
DQJORMĊ]\F
]QHM��Z�� GU
%LQF]\N
2OJD� =%�
����� ���
)$�5����
:

�������������7\J������
�����

+LVWRULD�OLWHUDWXU\
DQJORMĊ]\F]QHM��Z�� GU
%LQF]\N�2OJD� =%������ �
��)$�5����:

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� GU
/DQJLHU
&HF\OLD� =
%������ ���
)$�5����
:�����:)�
5����:�
8&.8�1$�
5����(*

������
������
7\G]���

6SHF�
QDXF]�
.XOWXUD
MĊ]\ND�GOD
QDXF]\FLHOL
� GU
/DQJLHU
&HF\OLD� =
%������ ���
)$�5����
:�����:)�
5����:�
8&.8�1$�
5����.-1

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


